
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med 10 100 000 000

4٫953 × 1000 = ________ 2٫189 × 100 = ________

8٫365 × 1000 = ________ 1٫778 × 100 = ________

1٫345 × 100 = ________ 8٫606 × 10 = ________

8٫565 × 10 = ________ 9٫517 × 100 = ________

4٫807 × 10 = ________ 7٫78 × 1000 = ________

8٫504 × 10 = ________ 10٫629 × 100 = ________

2٫867 × 1000 = ________ 8٫689 × 1000 = ________

5٫636 × 100 = ________ 6٫034 × 1000 = ________

8٫769 × 100 = ________ 8٫938 × 10 = ________

3٫865 × 10 = ________ 8٫073 × 1000 = ________
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med 10 100 000 000

4٫953 × 1000 = 4953 2٫189 × 100 = 218.9

8٫365 × 1000 = 8365 1٫778 × 100 = 177.8

1٫345 × 100 = 134.5 8٫606 × 10 = 86.06

8٫565 × 10 = 85.65 9٫517 × 100 = 951.7

4٫807 × 10 = 48.07 7٫78 × 1000 = 7780

8٫504 × 10 = 85.04 10٫629 × 100 = 1062.9

2٫867 × 1000 = 2867 8٫689 × 1000 = 8689

5٫636 × 100 = 563.6 6٫034 × 1000 = 6034

8٫769 × 100 = 876.9 8٫938 × 10 = 89.38

3٫865 × 10 = 38.65 8٫073 × 1000 = 8073
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